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A—68—2018
FACULTY OF COMMERCE
B.Com. (First Year) (Second Semester) EXAMINATION
MARCH/APRIL, 2018
BUSINESS MATHEMATICS AND STATISTICS
(MCQ + Theory)

(Thursday, 22-3-2018) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. .— (1) Solve Question No. 1 on OMR sheet.

(i7) Question No. 1 and Question No. 2 are compulsory.
(111  All questions carry equal marks.
(iv)  Simple calculator is allowed.
(1) T %A 1 OMR sheet a%= Higal
() 9 ®. 1 M TR H. 2§ A e
() \E YEAET FHE O SR
(7v) WY ORI STRUAE WE SR,

MCQ 10
1. (1) Base year price and base year quantity is shown by :
(A peaoy B) Py
C)  pyqr D) P19
SMYR Fuf= fhAa omfor SR Suf=h AEN v qaEe Sifaar 3d 2
(A Podo B)  p1q
©)  pPyq1 D) P19
P.T.O.
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Current year price and base year quantity is shown by :

(A pyq B) P19
©  pyqr D o
=16 el fRad onfor emuR gufet wET wen wEee  vifad A9 ?
(A poaoy B)  p1ay
©  pyqr O o

When the interest is taken on interest is known as :

(A) Simple interest (B)  Commission

(C) Compound interest (D)  None of these

Sieg] AR A Bael SId el QR e TR
(A) WS = (B)  wHIIH

(C) TwalE =N (D) e AT

In how many ways can the letters of the word ‘Absent’ be arranged ?
(A) 750 (B) 740

(C) 730 D) 720

‘Absent’ a1 V= 31eR vt f9= YR HHER =T I ?
(A) 750 (B) 740

(C) 730 D) 720

A matrix having only row is called :

(A)  Zero matrix (B) Column matrix
(C)  Square matrix (D) Row matrix
. Il b prm— N
(A) 3= o B) &Y IRt

(C)  =RE HRof (D) it WO
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LD

Do =2—X100. This formula is :
P
(A)  Fisher’s (B)  Paasche’s
(C) Laspeyre’s (D)  None of these
=222 100, 3 7 ok
2%
(A) TReR (B) UEw
(C) yeTd (D) AT ATE

A matrix in which the number of rows are equal to number of columns
is called :

(A)  Column matrix (B)  Square matrix
(C) Row matrix (D)  Diagonal matrix
ST RO Ut emf Ty A W WEE ST SR T ey
Fordrd.

(A) W9 FRof (B) =R |

(C)  Hekil @Ot (D) ol ERof

Find the value of 10C3 >

(A) 120 (B) 130

(C) 140 (D) 150

10C, ¥ qea W

(A) 120 (B) 130

(C) 140 (D) 150

What is the probability of drawing a queen card in a single draw from
a pack of 52 playing cards ?

SIS o 2
&) 13 (B) 13

3 4
(C) 13 (D) 13

P.T.O.

C62AB814A7072AD6AE18ASATE30431FF



WT

2.

(10)

( 4)

A—68—2018

52 Tt SEHYA T Ul Fiecdd (frad’ (o) g fHesrar qyer

fordt 2

A =
@ I
o S
© 13

(B)

(D)

An agent sold Rs. 9,000 worth of some articles on a 5% commission

basis. Find his amount of commission.

(A) 450

(C) 430

(B)

(D)

440

420

ThT TSeEM 9,000 %. T FE! IK] 5% HHIMER faeheard = sHHTem=

HE hIal.
(A) 450
(C) 430

(B)
D)

Theory

440
420

Construct the Fisher’s Ideal Index Number of price from the following

information :
Commodity 2010 2015
Price Quantity Price Quantity
A 05 40 09 50
B 03 80 04 80
C 07 90 07 100
D 10 100 15 80
E 06 50 06 54
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Wit Afediaed fher ¢ ereet fAdsne'’ el .

EL 2010 2015
ferma T ferma il
A 05 40 09 50
B 03 80 04 80
C 07 90 07 100
D 10 100 15 80
E 06 50 06 54
3. Find the value of : 10
10!
@ 06
) 12!
@ 124
HA el
10!
@ -6
) 12!
(1) 12— 4)!
Or
(fewam)
‘4 cards are drawn without replacement. What is probability that they are
all Ace.

Teh! TN IR U Tehl AN Tk hiedd STl o Hel b STHugrE] GHeadl hial.
4. If

P.T.O.
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Solve :
(2) C-A+B
(1) 2A + 3B.
ST e
4 7 2 9 8 10
A = B ==
6 8 5| 11 9 8
12 9 8
C=

3 0 8
redr
(2) C-A+B
(1) 2A + 3B.

Or

(fepam)
On selling machine worth Rs. 83,700 in a month, Rohan got Rs. 4,185 as
commission. Find the rate of commission.
AT 83,700 T. < WM faehetl. N 4,185 & HIE 9eol, W AR Heaie
HTHIET ST HIQ
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